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1. Which of the following statements are true of a component rule?

A component rule:

A. is used to create output.

B. is used for data validation.

C. is always evaluated even if an optional component is not present in the data.
D. can refer to any other component in the component list.

Answer: BC

2. Which of the following statements are true of the REJECT function?
The REJECT function:

A. operates on invalid data objects contained within valid objects.

B. returns a text string of up to 500 bytes.

C. can be used in a component rule.

D. can be used in a map rule.

Answer: AD

3. What WebSphere Transformation Extender component would be needed in a production environment
in addition to the adapters?

A. Design Studio

B. Transformation Engine

C. Database Interface Designer

D. Integration Flow Designer

Answer: B

4. Which tool defines relationships and manages collections of runtime maps at design time?
A. Launcher

B. Design Studio

C. Business Monitor

D. Integration Flow Designer

Answer: D
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5. What Design Studio function cannot be completed using command line utilities?
A. Export type trees and maps

B. Compile maps for the z/OS platform

C. Logical and Structural analysis of type trees

D. Create a type tree using the text file importer

Answer: D
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